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1. ����� �»4 «  

( , ) x y k , k140 224 28 224 140 28= ⇒ + = ∈ℤ   

u x y k x y k= + + = ⇒ + = −224 140 77 28 224 140 28 77   

k k k k
7728 77 0 3
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min u : k+ = ⇒ × − = − =3 28 3 77 84 77 7   
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3. ����� �»2«  

665 1394 66610 3 10< <   
4. ����� �»3«  

(xy xyz xz ) (yz xyz yx ) (zx xyz zy ) x y z2 2 2 2 2 2 31 31 31+ + + + + + + + = + +   

(xy xz yz)(x y z) (x y z)31+ + + + = + +   

x y z xy xz yz0 31+ + > ⇒ + + =   
  

5. ����� �»3 «  

�� �I% '$ �' � �! ($ ����J:  

 %&��)1 (a �/� K(� �$�
 .$'�� $�
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6. ����� �»1«  

�
�/m2  �
�/ ST%m1 �/� .#�,�, ?�.) ���� #�,�, ?�.) ST% U�V.� � �/� ���W � .  

7. ����� �»5«  
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#��� '$ Z<N 7�������  �%��� �t s0 3≤ < '�V� �R@ [\O '$ '��]� U�V.�x�� ���! �� ��� .  

8. ����� �»5«  
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9. ����� �)3 (  

1ρ ( ?3 � �:" �'2ρ �� ^�N #��@ � �:" �' ���� .  

Agh P gh P1 1 2 2 0ρ + = ρ +   

A A a/ P / P P P P kpa
4 4

0 01 0 6 10 13 6 10 1 130000 130× × + = × × + ⇒ − = =   

10. ����� �»3«  
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 ��(�<� _�1 ����40Ω ���� ;B( �� 	� ����� >'�B 	� �' .  

11. ����� �»4«  
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12. ����� �»5«  

 �=@ ������T& $��5&A $'�$ �:.=� [�* d�`&'� 	� .[�* 8('$ �J� ����2 �� �� ����* C�
 2��e��� ?3  $�a) .  	a
�.% '$

���� f��� �/� 7g�� ��(�T& $��5& .  

13. ����� �»2«  
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− f�� ����& ;� $ 	�  '�� �! ���O3 '��� '$ �`�� ���2 1�%��	��eJ ���/ �� �&'�� �/� #�) #$�$ ��� .  

14. ����� �»1«  

/ 	� ��=% ��/�.1 ePN	��eJ ��� h�� ������) �� �5N ��$'�$ �.. 	�c '$ ���� $'�$ �.�N�* 8(�.g � -� �R�& $�O �O3 � .  

15. ����� �»1 «  

 ��N�* ��'�$ 7���4  ��N�* ��'�$ 8i(�.�% (3 �/� .  
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16. ����� �»3 «  

  
17. ����� �»5«  

8�g 3 '$ �&� $��5& 8�) #$(eN� �� �� 7��� ���2 	j<% �� �&c�� �� 4�@ � $(' .  

18. ����� �»4«  

#$�.=J ;g) �/� ��� >'�B 	� 8�g 3 7�� � :  

| | | |

| ||
H

|

|

H H CH H

H C C C C H

H C H H

H C H

H

− − − − −

− −

− −

3

3 2 1

4

5

   

2  (3- 8�.�1 ;�.� �$  



 

 

�
��

��
 

�
�� 

�
�	


 
�

�� 

�

��
 

��
��

 �
		

��
�

  
 

4 
4 

  

19. ����� �»3«  

n n
n

C H O nCO (n )H O2 2 2 2 2
3 1 1

2+
+

+ → + +   

n
n n

3 1 8 3 1 16 5
2
+

= ⇒ + = ⇒ =   

n2 2 2 5 2 12+ = × + =   
20. ����� �»2«  

8�g 3 ����
 b���N >'�B 	� ��n nC H2 2+ �/� .  

)���J    (n n
n

C H O nCO (n )H O Q2 2 2 2 2
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2+
+
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n nC H n n n2 2 12 2 2 14 2+ → + + = +   

8�g 3 �� b�� �� 01n nC H2 2+����� ���@( n )14 2+$'�$ l�J.  
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21. ����� �»5 « 

Q mC T / / kJ2 5 4 2 20 210= ∆ = × × =   

m / g
210 100 5 25
50 80

′ = × =   

22. ����� �»1«  

23. ����� �»5«  

 >�����&2  (3-  ( 8�1(�1 ;�.� �$3 ( 3-  ( 8�&�� ;�.� �$2 - � 8�&�� ;�&� �'�]:��% �I% �3 �/'$ U�1����.=�% .  
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24. ����� �»3 «  
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25. ����� �»2 «  

�J�p  ( m�n' $��5&q b�� $��5& ��'�$ 2�)�� �O'$ ��� :  

p q q q

x y q x y

x y

1 6 1 5
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